N = 0l & AF & F Al A

SN ARBHEDY
. AYE 283 TH(BIES/Ho+E - +E)

&Rl S22 (e &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
=HS &0 286,850,091 250,388,736 36,461,355

= 208,585,921
s 50,599,000
& 27,665,170
HYs 2 ZH(BZEES/46teE - =3 70,178,941 60,742,144 9,436,797
= 6,006,571
s 50,599,000
& 13,573,370
S5 6,493,500 5,019,462 1,474,038
= 5,917,000
& 576,500
MENGHE S & ALY 5,120,000 3,220,000 1,900,000
= 4,717,000
& 403,000
403 XXIEHSAH20I& 5,120,000 3,220,000 1,900,000
=2 4,717,000
= 403,000
01 XXSHHA2EX 5,120,000 3,220,000 1,900,000
CJMECHE =& ALY 5,120,000
= 4,717,000
= 403,000
Lot A R E2E M2 ALY 1,308,000 1,300,000 8,000
= 1,200,000
& 108,000
403 AXIEHXHSAH201M 1,308,000 1,300,000 8,000
=2 1,200,000
< 108,000
01 XXSHHA2EX 1,308,000 1,300,000 8,000
OJUStHAIHIE2E H 2 AL 1,308,000
= 1,200,000
& 108,000
MAZ2g A 16,000 17,250 A 1,250
303 EAZ 6,000 6,000 0
01 Z&3 6,000 6,000 0
OS2l 2L =23 RHAIA 6,000
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SN $EEHDY
M AYS SEY XN (SFES/MGAE - 4F)
el AT Alane (5 &2
_ _ SIEN
SN EB -GS - MBAY - BES 0l & 2 il ot o {imE=Eh
01 XXM AR X 43,675,000 43,352,000 323,000
OsHEMESSNLAL 43,675,000
2 40,628,000
= 3,047,000
ARRAC AN AL 11,642,800 9,630,001 2,012,799
= 8,956,000
= 2,686,800
403 TXISHSKH=0IF 11,642,800 9,630,001 2,012,799
= 8,956,000
= 2,686,800
01 KXISHHAERE 1,642,800 9,630,001 2,012,799
OARRSTALNSAL 11,642,800
2 8,956,000
= 2,686,800
S A SR AL S 1,128,570 0 1,128,570
= 1,000,000
= 128,570
403 TXISHSKH=0IF 1,128,570 0 1,128,570
= 1,000,000
= 128,570
01 NXHHAERE 1,128,570 0 1,128,570
OSAXISA LN LA 1,128,570
2 1,000,000
= 128,570
XIS a SO AS 2,500,000 1,600,000 900,000
403 TIXISHSKHZ0IE 2,500,000 1,600,000 900,000
01 XtRIHH =R E 2,500,000 1,600,000 900,000
ONSALEALNLL =S 2DH 2,500,000
OS+RAH YA LA 1,390,000
ogleuy 150,000
O S 2002 (24, W) 960,000
HFEMLCHAA0L 2,000,000 0 2,000,000
403 TIXISHSKH2O0IH 2,000,000 0 2,000,000
01 XXM =R E 2,000,000 0 2,000,000
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SN FEEEY
. AYE 283 TH(BIES/Ho+E - +E)
Bl 2T AlA B CERE
SN -3 S2ARAH) - MFAY - BES Ofl & 4 gl,'igig Hlus2
01 XNXSMA=EX 19,500 0 19,500
DIzdet=g A2 A S A 19,500
= 15,000
= 4,500
BRIZANY SE(BBES/M0I+E - +2) 216,619,350 189,589,370 27,029,980
= 202,579,350
< 14,040,000
ot=Z A& 2e 202,358,000 178,971,607 23,386,393
= 189,815,000
[ 12,543,000
St=HMelZax 83,600,000 49,270,000 34,330,000
= 74,113,000
< 9,487,000
403 TRSHSI=0lH 83,600,000 49,270,000 34,330,000
= 74,113,000
< 9,487,000
01 MRESHMI22E 83,600,000 49,270,000 34,330,000
Uot+=XcI& &Rl 83,600,000
= 74,113,000
= 9,487,000
St=Z A ZHIAY 46,329,000 55,478,000 9,149,000
= 46,329,000
403 [XIEHSA=0lE 46,329,000 55,478,000 29,149,000
= 46,329,000
01 RMXESHMIE2E 46,329,000 55,478,000 /9,149,000
Ot 2 A ZHIAY 46,329,000
= 46,329,000
YARGISTAIE 2E 28,892,000 33,017,000 4,125,000
= 28,050,000
S 842,000
403 TRISHSI=0IH 28,892,000 33,017,000 4,125,000
= 28,050,000
[ 842,000
01 RXESHMIEE 28,892,000 33,017,000 4,125,000




SN SRS
Tu: BAZAL FE(HUDS/MGLE - 43
o St AlE 22| (e &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OYaIot=S Ald 28,892,000
= 28,050,000
= 842,000
HERot =X el ® &X 7,559,000 7,372,000 187,000
= 6,900,000
& 659,000
403 AXIEHXHSKH201H 7,559,000 7,372,000 187,000
= 6,900,000
& 659,000
01 XXSHHA2EX 7,559,000 7,372,000 187,000
OS2 6tex el & 7,559,000
= 6,900,000
& 659,000
sHE0Sot=< &l 7,049,000 8,635,000 A 1,586,000
= 6,448,000
& 601,000
403 XXIEHMSAH201& 7,049,000 8,635,000 A 1,586,000
= 6,448,000
= 601,000
01 XXSHHIA2EX 7,049,000 8,635,000 A 1,586,000
OsHE0tSot=2AlE 7,049,000
= 6,448,000
& 601,000
St=Xeld 84t 2cl3 & 15,731,000 13,766,000 1,965,000
= 15,731,000
403 XXM ESX20IH 15,731,000 13,766,000 1,965,000
= 15,731,000
01 XXSHXMA2EE 15,731,000 13,766,000 1,965,000
Ost+HelZSaeel 24 15,731,000
= 15,731,000
St HEX delZ A 12,244,000 10,918,000 1,326,000
= 12,244,000
403 KX SAHE01H 12,244,000 10,918,000 1,326,000
= 12,244,000
01 XXX A2EE 12,244,000 10,918,000 1,326,000




SN SRBHD
HH: S EAL HE(BBLS/AGAE - )
S ol AlE 2el (Ste &)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
Oot=2 NS 2S4S 12,244,000
= 12,244,000
ot HAHIAS (ZHI) 930,000 500,000 430,000
403 XXISHHSA20|H 930,000 500,000 430,000
01 XXSHMA=2EX 930,000 500,000 430,000
ot HEBHIALY 930,000
ot A2 EREA 24,000 15,607 8,393
201 Let2Ad| 8,500 6,500 2,000
01 AtR22lY| 7,500 6,500 1,000
Jget=sH| 4,000
ONPEETYURISHES 4,000
Osgs<g 3,500
Odtx=C 2| gRUASAJI L LAY 3,500
02 =32&H| 1,000 0 1,000
Oet=3t & & &3yl 1,000
202 O] 14,000 8,357 5,643
01 =2WAbI 14,000 8,357 5,643
ot A8 22| R FE M 14,000
203 YRFEH| 1,500 750 750
03 AIMF=RHFF=ZEH| 1,500 750 750
Ot Al 2| Y R=AH| 1,500
P4 - 2 XAl 2e 14,261,350 10,617,763 3,643,587
= 12,764,350
== 1,497,000
HOIGH=H el Al & ALY 161,350 425,263 A263,913
= 161,350
403 XXEHHMSA=20lH 161,350 425,263 N 263,913
= 161,350
01 XXSHA=2EX 161,350 425,263 N263,913
CIOHCIBk =M el Al & AL 161,350
= 161,350
EaHelAEAS 2,382,000 4,477,000 A2,095,000
= 2,382,000




SA

SABH
Xy HAIZAL HE(BALS/AGAC - )
el 24 - i HMelAlda2e] CEREED
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
403 XXISHMSK20lH 2,382,000 4,477,000 A2,095,000
=2 2,382,000
01 XXSHHA=2EX 2,382,000 4,477,000 A 2,095,000
O =XMelAlZ8 AL 2,382,000
= 2,382,000
IEERS3HEAIEE XA 10,984,000 5,267,000 5,717,000
= 10,221,000
= 763,000
403 XNXESHHSA=20lM 10,984,000 5,267,000 5,717,000
=2 10,221,000
= 763,000
01 XAXEXMASEEX 10,984,000 5,267,000 5,717,000
(DS 223 X2lAIEE XA 10,984,000
= 10,221,000
= 763,000
SSIEA NE A 734,000 360,000 374,000
403 XXISHHSA20|H 734,000 360,000 374,000
01 XAXESHMA2EEX 734,000 360,000 374,000
OSS3EAMEAMS 734,000
HESAPHI (= E2E ) (IIEHIIE 51,800 57,222 N5,422
RNl 51,800 57,222 N5,422
=l 51,800 57,222 N5, 422
201 ety 25,300 25,300 0
01 AtR2t2ld] 25,300 20,500 4,800
Ogdt3| 16,300
ONREES 2T 427 12,800
OxZBHEABMALEROS 3,500
BEEE] 9,000
O+FBHALETZAY| 9,000
202 O] 26,500 25,922 578
01 =2WAbI 26,500 25,922 578
O 8 XMUAGHZAFE =R A b 26,500




